50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Time: 3 hrs.

ﬁ@;m

3 § @ ﬁ@erte the summa

'111) Add —(R2), R5

»{\

Max. Marks:100
Note: Answer any FIVE full qitestlons, selectmg
at least TWO questtons Jrom each part A

PA}iWF A
Mention the four types of operatlonsfﬁto be performed by instructions in a computer. Also,
explain the basic types of in ofi formats using the example required to perform the
action C «—[A]+[B]. w (08 Marks)
The program can be run on ;RISC or CISC computer Both computers use pipelined
instruction execution, bu p1pe ing in the RISC machine is more effective than in the CISC
machine. Spemﬁcally&% ¢effective value of basic steps required to execute one machine
mnstruction for the RISQ is 1.2, but it is only 1.5 for.the CISC machine. Both machines have
the same clock rate. ‘What is the largest all ywable value for N, the number of instructions
executed on the CfSC machine, expressed.as a percentage of the N value for the RISC
machine, if the time for execution on thé.€ISC machine is to be no longer than that on the
RISC macgme;z (06 Marks)
A proggam 'h&S 100 machine instructios in a straight line code and 100 machine instructions
in a Jdop which gets executed forvzé@ times. The averagesnumber of basic steps needed to
executé one machine instruction® 42 cycles and tl;s: yrocessor is controlled by clock of
2 GHz. Find the time required for the program exaguﬁ (04 Marks)
Using 5 bit 2°s compliment, representatlon perf@ @ti% d decimal number
(=10) + (-10). State whether ‘overflow occurs omgt. (02 Marks)

f o, ® &

With a neat schematic dlagram, explam*&‘the oncept of stag@m@me and differentiate frame
pomter from stagk-pointer. (06 Marks)
What is the %@ﬁ?for Assembler
Mention any thrée Assembler Direg

addition 0

4 OS“e. 06 Marks)
Fessing mode used for the source and

reglstef%ml R2 and RS
i) Load 20(R1),R5,

m'the decimal values 1200 4600 and 5000 respectwely)
fe. RS, 30(R1, R2)

a single device. (06 Marks)
Mention the ost important < mmonahty and a difference between the interrupt and
exceptlon%gcplam the two exceptlons which a Debugger provides to the user as an aid in
debugging programs. AL ¢ (06 Marks)
Explain how to famhtate“ﬁ‘i»transfer of large block of data at high speed directly between an
external device and th@m@‘fham memory. Write an appropriate block diagram to support the
explanation. é (08 Marks)
A
What are the pleem f‘fgﬁjectives for which the USB is designed? Explain the USB architecture
with a neat block diagram. (10 Marks)
With a neat block diagram, explain the use of PCI bus in computer system and its important
charac@f@sgics. (10 Marks)
/ 1of2
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PART -B i,
Explain the two ways of address distribution in multipl dule memory system. Mention
one important advantage of each scheme. " (06 Marks)
Draw the schematic diagram of memory circuit fof%é words of 8 bits each. Calculate the
number of external connections for this memoryX hlpz% (08 Marks)

The main memory has 4K blocks of 16 ¢ rés each and block-set-associative cache
consisting of 128 blocks arranged as 64 setsﬁ8 H,,GYW many bits are there in each of the TAG,
SET and WORD fields? ﬁg%ﬁ ¢ A 3@&, (06 Marks)
arf%% represent the block dl%gram Compare the delays
ykahead adder and 4-bit i ple-carry adder. (06 Marks)

!;% s algorithm and verify the

Design a 4-bit Carry-Lookahead adde:
of carry bits and sum bits to Carry-T00
Find the product of signed numbers

product obtained. ) (08 Marks)
Represent single-precision a *double-prec1smn IEEE sténdard floating point formats. Also,
list the rules addltlon any ubtraction of floating po;g;gwmbers (06 Marks)

Consider the instruc frAdd (R3), R1; List the actw?éns required and control sequence steps
for executing this'hy ;uctlon. (08 Marks)
Mention the é*émtr sequence requlre;gﬁf@% executing Add R4, R5, R6 in three-bus
organizatio \g{fData path. (04 Marks)

ock diagram, explam the @grgamzatlon of microprogrammed control unit.
(08 Marks)

(08 Marks)
200G ory, five clustered
'GB. How muchw ore space is there for
(04 Marks)

‘@pproaches to hardware multithreading.
(08 Marks)

Suppose a single shared mempory processor hag
computers each have 4 and the OS occupie
users with shared me
Explain hardware mu l'lrt%hfeadmg and two




